MIAM IDADE MIAMI-DADE COUNTY, FLORIDA
e METRO-DADE FLAGLER BUILDING
BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA)

Hurst Awning Co., Inc.
6865 NW 36 Ave.
Miami, FL 33147

ScorE:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: 0.063” Aluminum (5052 H32 Alloy) Storm Panels Shutter

APPROVAL DOCUMENT: Drawing No. 98-217, titled “0.063” Aluminum Storm Panel”, sheets 1 through 8 of
8, prepared by V.J. Knezevich, P.E., dated 5/9/02, bearing the Miami-Dade County Product Control Revision
stamp with the Notice of Acceptance number and expiration date by the Miami-Dade County Product Control
Division.

MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.
RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 99-0421.07 and, consists of this page 1 as well as approval document mentioned above.
The submitted documentation was reviewed by Raul Rodriguez

NOA No 02-0315.08
Expiration Date: July 10, 2003
Approval Date: May 17, 2002
Page 1




J:\CADD\CoddQB\Hurst\98—217\R3—sub\98—217—01.dwg AVazquez 05/09/2002 02:05:18pm

Print Information:

GENERAL NOTES: PRODUCT MARKING
ATION

1. THESE APPROVAL DOCUMENTS REPRESENT A SHUTTER SYSTEM ANALYZED WITH Loc
THE PROVISION SET FOR THE ISSUANCE OF A NOTICE OF ACCEPTANCE (NOA] BY
MIAMI-DADE COUNTY PRODUCT CONTROL DIVISION FOR THE HIGH VELOCITY HURRICANE

ZONE (HVHZ) OF THE FLORIDA BUILDING CODE. S
o~

2. TO VERIFY THAT THE ANCHORS AS TESTED, ARE NOT E
APPROVAL DOCUMENTS, A 33% INCREASE IN ALLOWABLE N A \ \—t
THE FASTENER ANALYSIS. 754 12.00" COVERAGE

3. DETERMINE THE POSITIVE AND NEGATIVE DESIGN LOADS TO USE WHEN REFERENCING [ 13.00
THESE DOCUMENTS IN ACCORDANCE WITH THE GOVERNING CODE AND GOVERNING 13.50" |
WIND VELOCITY. FOR WIND LOAD CALCULATIONS IN ACCORDANCE WITH ASCE 7-98, FULL PANEL HALF PANEL
A DIRECTIONALITY FACTOR OF Kd =1.0 SHALL BE USED,

ONE HALF PANEL PER OPENING
4. THESE APPROVAL DOCUMENTS ARE GENERIC AND DO NOT INCLUDE INFORMATION STORM PANEL MAY BE USED AS REQUIRED TO "h" HEADER "U" HEADER
FOR SITE-SPECIFIC APPLICATION OF THIS SHUTTER SYSTEM. COVER OPENING - —_—_— —_—
SCALE: 3" = 1'-0" SCALE : 3" = 1-0" SCALE : 3" = 1-0"

5. THESE APPROVAL DOCUMENTS COMPLY WITH CHAPTER 61G15-23 OF THE FLORIDA
ADMINISTRATIVE CODE. . PRODUCT MARKING
063 / LOCATION
6. THESE APPROVAL DOCUMENTS, ARE SUITABLE TO BE APP RACTOR (TYP)
PROVIDED THE CONTRACTOR DOES NOT DEVIATE FROM T
HEREIN AND THE CONTRACTOR VERIFIES THAT THE EX| DOES : 2.000"
NOT DEVIATE IN EITHER FORM OR MATERIAL FROM THE S T__[ ,
12500 COVERAGE ! ° 125" TYP. . )
710 g 125" TyPpP. =°
8. WHEN THE SITE CONDITIONS DEVIATE FROM THESE APPROVAL DOCUMENTS, THE 14 250" h S
BUILDING OFFICIAL M ECT ONE OF THE FOLLOWING OPTIONS: :
A) REQUIRE THAT SITE SPECIFIC DOCUMENTS BE PREPARED, SIGNED, DATED AND FULL PANEL [ 5007 MAX. J 2.00"
ARSIV DR E R BTSARIENED ARCHITECT, Walch oF (AL o
AND . H
PRODUCT ENGINEER FOR REVIEW AS A CONDITION TO THE BUILDING OFFICIAL STORM PANEL @ ANGLE ANGLE STUDDED ANGLE
WHEN THE SITE CONDITION DEVIATIONS OCCUR WITHIN THE HIGH VELOCITY HURRICANE
ZONE AREAS ONLY OPTION "B SHALL BE ACCEPTED BY THE BUILDING OFFICIAL. 188"
9. PRODUCT MARKINGS SHALL BE WITHIN 12" OF ONE END OF THE PANEL WITH A : T T 3o T esst
MINIMLETO%SONE MARKING PER PANEL AND SHALL BE PERMANENTLY LABELED :
AS FO :

R .250"
R 250"

2.118" 1.110"

3.472"
2,125

INC

DUCT TESTING

|
o}

S
R
1260 N. UNIVERSITY DRIVE, SUITE 180 » FORT LAUDERDALE, FL 33322

PR
TEL: (954) 382-2800 - FAX: (954) 382-2989 » FLORIDA COA #3205

SOCIATES,

S

c
ey
>
—
n
C
w
n
—
ey
>
-~
m
n
2.00

125" TYP o —
1/4-20 MACHINE SCREW

STUD PUNCHED INTO ANGLE
(SEE DETAILS FOR SPACING)

lgITIONS TO THESE APPROVAL DOCUMENTS WILL VOID

2.0

T
Y

ON
EL
SP

A
IT
E

I
(W
2.00" >
w
N
w
p=d

WEBSITE: WWW.KNEZEVICH.COM « E-MAIL- KA@KNEZEVICH‘COMJ

DETAILED HEREIN.
7. ANY MODIFICATIONS AI_Dr
GRANTING HIS/HER APPROVAL. SCALE: 3" = 1"-0" SCALE: 3" = 17-0" SCALE : 3" = 1'-0" SCALE : 3" = 1"-0" v
B) REQUIRE THAT A ONE-TIME SITE SPECIFIC APPROV AL BE APPLIED FOR AND SEE GENERAL NOTE #17 ON SHEET 10F 8 1.186"

COPYRIGHT ® 2002 KNEZEVICH & ASSOCIATES, INC]

OR
THE APPROVAL DOCUMEN
SECURED FROM THE MIAMI-DADE COUNTY PRODUCT CONTROL DIVISION

1.126

16 GA.

1.00"

HURST AWNING 60, NG, ) == o
MIAMI-DADE COUNTY PRODUCT CONTROL APPROVED ALLlES, [ | 2000 | (ZAMAC 3 ALLQY) (TWO PER HOLE) SILL TRACK
WASHERED WINGNUT SPRING LOCKING

S AND WASHERS SHALL BE GALVAN]ZED OR STA'NLESS STEEL WITH A OPTIONAL ANGLE . {W/ 174" x 1-5/8" SLOT AT 6" 0.C) STEEL BAR
ENSILE STRENGTH OF 60 KSI. @ AL FALFSIE CLIP (1" WIDE)
SCALE : 3" = 1-0" SCALE: 3" = 1-0" HALF SIZE

S SHALL BE 5052-H32 ALUMINUM ALLOY, WITH THE FOLLOWING
ETAL THICKNESS AND MECHANICAL PROPERTIES: SCALE : 3" = 1'-0"

0.063" MIN. BARE METAL THICKNESS, WITH A MIN. Fy= 25.0 KS!
12. ALL EXTRUSIONS SHALL BE 6063-T6 ALUMINUM ALLOY. U.ON (PERP. TO PANEL SPAN] Top M%Nb (PERP. TQ PANEL SPAN]) (PERP. TQ PANEL SPAN)
' e PECE(R).(B).
TYP. SECTION pomm

3. TYPE | & TYPE Il PANELS, OPTIONAL 1" x 1" x 16 GA STEEL BAR MAY BE USED TO TYP. SEcTiON ®or® .
CONTROL DEFLECTION OF STORM PANEL SYSTEM ON INSTALLATIONS BELOW 30 T HTTH T TP MOUNT H TOP MOUNT
ABOVE THE GRADE, PROVIDED THAT THE PANEL SPANS USED ARE 101" OR LESS, 1/4-20 x 3-1/2" PIECE@OR@ PlECE@OR@
THAT DESIGN LOADS AREBELOW 272 PSF AND THAT THE SEPARATION FROM SIDEWALK BOLTS OR DIRECT MOUNT OR DIRECT MOUNT
GLASS IS 1-7/8" OR MORE BUT LESS THAN 2.5", W/ DIE CAST ALUM.

WASHERED WINGNUTS
14 TYPE | & Il PANELS SHALL BE FASTENED AT PANEL OVERLAPS AT MIDSPAN WITH FASTENED AT OVERLAPS.
1/64-20 x 1" BOLTS W/ DIE CAST ALUM. WASHERED WINGNUTS OR JACKNUTS (SEE (SEE PLAN VIEW AND
TYPICAL ELEVATION). FOR TYPE | OR Il PANEL SPANS LESS THAN 33" OVERLAP NQTE 14)
FASTENERS & TUBULAR BAR ARE NOT REQUIRED NO STEEL BAR OR OVERLAP
FASTENERS ARE REQUIRED FOR INSTALLATION TYPE HlI. (SEE TYPICAL ELEVATION
TYPE lll). TYPE | & Il PANELS UTILIZING A STEEL BAR SHALL BE FASTENED AT
OVERLAPS AT MIDSPAN TO A 1" x 1" x 16 GAGE STEEL BAR USING 1/4-20 x 3-1/2"
BOLTS W/ DIE CAST ALUM. WASHERED WINGNUTS OR JACKNUTS, (SEE TYP. ELEVATION).

15. TOP & BOTTOM DETAILS SHOWN MAY BE INTERCHANGED AS FIELD CONDITIONS
DICTATE. PANELS MAY BE MOUNTED HORIZONTALLY WHERE APPLICABLE, EXCEPT
FOR "h" AND "U" HEADER MOUNTING CONDITIONS.

STEEL BAR (SEE 1" % 1" x 16 GA.

16. AT LEAST ONE WARNING NOTE PER OPENING SHALL BE PLACED IN A CONSPICUOUS PLAN VIEW &
LOCATION ON ANY OF THE COMPONENTS OF THE STORM PANEL SYSTEM ADVISING NOTE 13 & 14) AR SEE
THE HOME OWNER OR TENANT THAT THE STORM PANELS WILL NOT OFFER HURRICANE RGTE 138
PROTECTION UNLEVS\/S RANLL (SREIESSLRCSIEQLBI_OBLJFS:AASNTDETUDBE ARE PROPE’&’LY INSTALLEE I 1
WHEN REQUIRED. WARNIN NED WITH PERMANENT ADHESIV o o | 1o o ] ] ; a
OR MECHANICALLY. ADDITIONAL WARNING LABEL SHALL BE PLACED WHEN SPRING el SPOD i Siz%ziu(fg = 2?52%2?:5 R ?:?eTcTEO@)MoORUNT

\ .

LOCKING CLIPS ARE USED STATING THAT TWO SPRING LOCKING CLIPS ARE REQUIRED el
PER HOLE. (el OR DIRECT MQUNT EQEFESRCE?RSEECRTS,%UC,L'#—G OR DIRECT MOUNT

R TRESE DRAINGS IN Uit BF 67 Anp 92 BUT AL R SED I ALL DETALS  ybicAl ELEVATION-TYPE | TYPICAL ELEVATION-TYPE Ii TYPIGAL ELEVATION-TYPE |

EXCEED THAT SHOWN IN ANCHOR SCHEDULE ON PAGES 6. 7%80F8 NQTE: IF BAR @ IS NOT USED, TABLE 2 "NO BAR W/ BOLTS" IS APPLICABLE FOR SEPARATION FROM GLASS (NO BOLTS AT PANEL OVERLAPS OR BAR ARE REQUIRED)

[@ (QUTSIDE) tF BAR (11) 1S USED, TABLE 2 "BAR W/ BOLTS" IS APPLICABLE FOR SEPARATION FROM GLASS
@D 1" x 1" x 16 GA STEEL

@ {QUTSIDE) {QUTSIOE)
[ / TUBE, TYP. {(OPTIONAL!} SEE

NOTE 13 & TYPICAL ELEVATION PRODUCT REVISED 18

MINUM
PANEL
Miami, Florida 33147
Phone: (305) 635-0900
Toll Free: (800) 327-0905
Fax: (305) 634-9078

6865 N.W. 36th Avenue

10.

1.

-

v

WIDTH UNLIMITED WIDTH UNLIMITED WIOTH UNLIMITED

.063" ALU
STORM

Manufacturers of Hurricane & Security Protection Products

1

AWNING COMPANY, INC.
"QUALITY SERVICE SINCE 1957"

-

V.h

1/4-20 x 3-1/2"
SIDEWALK BOLTS

W/ DIE CAST ALUM.

4 | WASHERED WINGNUTS
FASTENED AT QVERLAPS.
{SEE PLAN VIEW AND
NOTE 14)

PLAN VIEW

> (O Sy gt e ol vl - s o o s e '

oPTIONAL (D)

1" x 1° x 16 GA. oPTIONAL (D)

FOR MAX. PANEL LENGTH
(VERTICAL OR HORIZONT AL}
FOR MAX. PANEL LENGTH
(VERTICAL OR HORIZONTAL)
T
T
T
t
I
1

SEE STORM PANEL SCHEDULE
SEE STORM PANEL SCHEDULE
SEE STORM PANEL SCHEDULE
FOR MAX. PANEL LENGTH
{(VERTICAL OR HORIZONTAL)

F

descriptian I

1 /09/30/9BVIK| PREV, DRAWING # 95-33
GENERAL NOTES

GENERAL REVISIONS

revisions

by

date

2 101/04/98|V IK|
3 05/09/020L B

FASTENER @ 12” 0.C. FOR DESIGN LGADS
LESS THAN OR EQUAL TO 110 P.S.F :
AND @ 8" 0.C. FOR DESIGN LOAD GREATER OVERLAP FASTENERS

TYP. (SEE NOTE # 14)

THAN 110 P.SF. / __d’ x
174" MAX.
EXISTING CONCRETE, {INSIDE) @ "
HOLLOW BLOCK, OR (INSIDE] 172" QVERLAP
w000 FRAMING —— (INSIDE)

==l 221 83 COmplying with 1
_____________ = PE wiin the Finnda date
——— 12 i ot 09/30/1998
N ,——— FASTENER @ 12" 0.C. FOR DESIGN LOADS Buiding Cody

LESS THAN OR EQUAL TO 110 P.S.F Acceptaare Iy S scale drawn by
AND @ 8" 0.C. FOR DESIGN LOAD GREATER Expirachn 8 AS NOTED MC
n ’ design by e y]
'

THAN 110 P.S.F.

AN

[ EXISTING CONCRETE, 2 ===
HOLLOW BLOCK, QR N rawing no.
g? ALUM. ANGLE CLOSURE PIECE: EXISTING CONCRETE, ALUM. ANGLE CLOSURE PIECE: AMING 1
1" x 27 x 055" MIN. TO HoLLow BLack, or .~ PLAN VIEW / CLOSURE DETAILS 1 x 2" x 125" MIN. TO WOOD FRAMING Division roduct Confrof 98'21 7
2" x 5" x 055" MAX, WQO0D FRAMING - — 2w &k oe mAX
SCALE: 1-1/2" = 1'-0 ——sheef 1 of 8

05/08/02 14.05



EXISTING CONCRETE, EMBED 5/8"
HOLLOW BLOCK OR EMBED., 5/8° EXISTING CONCRETE, EoBEE.
W0OD FRAMING (SEE MAX, HOLLOW BLOCK OR (TyP) MAX
ANCHOR SCHED. BASED — FASTENER, SEE ANCHOR FASTENER, SEE ANCHOR XVSCO’_‘DOP;RSACP::E‘DG (BSEEED FASTENER, SEE ANCHOR
ON TYPE OF STRUCTURE) / SCHEDULE, REFERENCE SCHEDULE, REFERENCE . EDGE DIST 5/8" SCHEDULE, REFERENCE
( CONNECTION “TYPE 2" CONNECTION "TYPE 5" T—' + - TW ON TYPE OF STRUCTURE) CONNECTION “TYPE 3"
|
. ® ] EXISTING CONCRETE,
45 7 HOLLOW BLOCK OR 1/L-20 MACHINE BOLT &
EMBED WOQD FRAMING {SEE NUT @ 12" 0.C. STAGGERED
w ANCHOR SCHED. BASED - (TYP, TOP & BOTTOM)
6] | 6 (Typ.) ON TYPE OF STRUCTURE} al- /L7 MAX
a 176" MAX a4
w | / /r 4k 176" MAX. wla ) US| N s
| — I 22 Rg3lZ
| = [ —HIm R Yy
# l‘ S r | | ® n Ei <o( § E
\ w ‘ ® | PREET R
I i i ( i [ o Hwol 83813
SEE MIN. SEPARATION J ‘ 4 N w ‘ A3 S &g % o
FROM GLASS SCHEOULE ! ! a SEE MIN. SEPARATION ! 2 ; Y ANEER "
(SHEET S OF 8) | i g FROM GLASS SCHEDULE i g SEE MIN. SEPARATION | gl s —0 . ¥ |e
o~ 4 On | g & (SHEET 5 OF &) N | ol 5 FROM GLASS SCHEDULE | —C VP wl v VZEgZ|a
ﬂ " A Z|w& [ oG zia (SHEET S OF 8) L w o gz
-l a e A L 4 ol 2 I
S _ i g a) s GLASS — » z ; Dnlogd ., |lu
GLASS 1 Y gl 2 GLASS _ __ g g OR DAOR hy 2@ M z
OR DOOR ——~ i | Zla oR DOOR_,( Y Zla | ez o ’Qg >
i [ a| ¥ [ al s x| a ERU|nm
x l x (®coNT <= 52
| 1 x| 3 ‘ x| & ; I w 2% S
| < = <] - . b
1 | s w ®cont f—— 1/4-20 MACHINE SCREW Iiw (D CONT. (TYP. i ] é‘ < é >
| i Y STUD & WINGNUT @ 6" 0.C. w TOP & BOTTOM [ v 8o |~
| | I FOR TYPE | & 1] AND I i C.%E- o
| i @ 12" 0.C. FOR TYPE Iil. i g~ e
gl | ' el e il ~
ol I - (®conT. ! a — =2 H\ N R3]0
ala A ! | w ¥ 1/4-20 MACHINE SCREW Sgu|k
EXISTING CONCRETE,  %{-— ~ <SR [ / —— FASTENER, SEE ANCHOR EXISTING CONCRETE, i ?g:t’rf;g'rf":,ug,fg sroc zegi2
HOLLOW BLOCK OR . i SCHEDULE, REFERENCE HOLLOW BLOCK OR 12" 0.C. FOR TYPE gdslx
W0OOD FRAMING (SEE = | 174220 MACHINE SCREW CONNECTION “TYPE 5 WOOD FRAMING (SEE @ c. ! ~ o
ANCHOR SCHED. BASED f STUD & WINGNUT @ 6" 0.C ANCHOR SCHED. BASED
ON TYPE OF STRUCTURE)— o J FASTENER, SEE ANCHOR FOR TYPE | % Il AND ' | |—— EXISTING CONCRETE, ON TYPE OF STRUCTURE) e ]
— /\—A L SCHEDULE, REFERENCE @ 12" 0.C. FOR TYPE Il @_ HOLLOW BLOCK OR | (= -
CONNECTION *TYPE 1+ ‘ “ ANCHOR SCHED ateo £ 2528w
g : FASTENER, SEE ANCHOR T 53X
I ON TYPE OF STRUCTURE) SCHEDULE, REFERENCE 22387 S
. EOGE DIST. CONNECTION “TYPE 4+ <m:§‘§3§<}
ANGLE TO WALL DETAIL PANEL TO ANGLE DETAIL g-g\oeg
. "ED2 o
= SIDE CLOSURE REQ'D. {SEE PLAN VIEW) SE 2 <9
e T
S o7
WALL MOUNT SECTION CEILING/INSIDE MOUNT SECTION BUILD-OUT MOUNT SECTION ZEEES
SCALE: 3" = 1'-0" . © RS EZE
e = SCALE: 3" = 1'-0" SCALE : 3" = 1'-0" S S

STORM PANEL

Manufacturers of Hurricane & Security Protection Pro

Eo.oss" ALUMINUM

J:\CADD\CoddQB\Hurst\98—217\R3—sub\98—217—02.dwg AVazquez 05/09/2002 02:56:12pm

Print Information:

d&
SEE MIN. SEPARATION 5/87 MAX— FASTENER, SEE ANCHOR SCHEDULE, z=
WOOD FRAMING FROM GLASS SCHEDULE EMBEOD. REFERENCE CONNECTION “TYPE 1° g
(SHEET 5 OF 8) TYP. TOP % BOTTOM 2
EXISTING CONCRETE, (Typ) : . [}
FASTENER, SEE ANCHOR Sl T HOLLOW BLOCK OR USE REMOVABLE FASTENERS @ 670.C. MAX. ]
SCHEDULE, REFERENCE GLASS | WOOD FRAMING (SEE FOR TYPE | & Il OR @ 12" O.C. MAX. G
CONNECTION *TYPE o~ OR DOOR— | ANCHOR SCHED. BASED FOR TYPE it (DO NOT USE WHERE ANCHOR 0%
| ON TYPE OF STRUCTURE)—4# SCHEDULE SPACING IS LESS THAN 6" 0.C.) ;3
. =
: OF 33
g ® / ® | 5? GRS
| -
—— o
7[ v /' 174 } - LA |
- | 8l '
i E al¥ i
I [ | [} I
[ | [ 5 |
[ I w | % : "
i 1 = )
2 [ < 3
GLASS [ 06 [ £la i a ‘\ <l 3
OR 0OOR l ’ Gl & I X GLASS | Sl E
SEE MIN. SEPARATION _— z| 9 H | ; OR DOOR 4 OBRY g
FROM GLASS SCHEDULE ————— _— H | S
(SHEET 5 OF 8) \ i e | SN ]
| | ol Z - ®conT SEE MIN. SEPARATION oz s
' : Zla I ; FROM GLASS SCHEDULE N z| & Al
]
: 1 alx | (SHEET 5 OF 8] | N RE
| | x| 8 | x| 5 Blx|als
| ! G | ge HEIHAE:
P S )
[ [ w . asLe 1/4-20 MACHINE SCREW ! - w T3 %2
1 ! - Ea/ﬁz?gg 3«//41-51"/52"'“6 STUD & WINGNUT @ 6" 0.C l\ w g HELE g
L (®canT i : FOR TYPE | & Il AND of 518152
‘ ® | PENETRATION INTO wooD 0 & O L o ivpe 1 | al | |25
| i | " \ | |g
| [ 2-1/4"® x L-1/2" S.S. ] { >
| ! EMBED. LAG SCREW @ 24" 0.C. MAX. a [ MIREEE
L ‘ W/ 1-3/4" PENETRATION EXISTING CONCRE TE [ 2318
“ . @
FASTENER, SEE ANCHOR Uro2S ACHINE SCREW 3/87 MAX: IN CENTER OF STUDS HOLLOW BLOCK OR : MR
WOQD FRAMING ~ SCHEDULE, REFERENCE Son TYPW'lNC' UT @ 67 0.C. 2" x 6" P.T. WO0O0D FRAMING (SEE 3i%|2(2
CONNECTION “TYPE 1 TYPEI& Il AND WO0OD CONT ANCHOR SCHED. BASED I’RODUCI'REVISED 254
@ 12" 0.C. FOR TYPE 1lI,
ON TYPE OF STRUCTURE) 83 complyin, CI
NOTE: THIS DETAIL MAY BE USED Bu g with the Florida <
ANGLE TO WALL DETAIL PANEL TO ANGLE DETAIL AT TOP OR BAOTTOM QF PANELS. g Code date
Acce 09/30/1998

®

WALL MOUNT SECTION

SCALE : 3" = 1'-0"

NOTE: USE OF THIS DETAIL IS LIMITED TO + 72 PSF

WALL MOUNT SECTION

SCALE : 3" = 1'-0"

® WALL MOUNT SECTION

(DIRECT MOUNT)

SCALE : 3" = 1'-0Q"

-0315.
IO ‘. 8

scale drawn by
AS NOTEO MC

drawing na.

98-217

05/09/02 14:05



J: \CADD\Cadd98\Hurst\98-217\R3-sub\98-217-03.dwg OBlonco 05/10/2002 09: 21: 130m

Print Informotion:

o

1 I
SEE MIN. SEPARATION | w /8" MAX—pr EXISTING CONCRETE,
FROM GLASS SCHED X 3 i r HOLLOW BLOCK OR
(SHEET 5 QF 8) [ | B EMBED. w000 FRAMING (SEE
| =¥ TYe) ANCHOR SCHED. BASED BEIR U
| alg QN TYPE OF STRUCTURE) z a8 3=
@ cont ‘ g —] SEE EPARATION Zo|Ra 8-
, — 04| FASTENER, SEE ANCHOR MIN. S A AP —a *® Zilur
prr J FROM GLASS SCHEDULE [ S llw
| 2|z SCHEDULE, REFERENCE | w T <g
\ 5 < J / CONNECTIQN "TYPE 2" (SHEET 5 OF 8) | a- | Szl%
4 w < N =
GLASS 1/4-20 MACHINE BOLT : alg @ 1. 20 macHiNg BOLT (D(a) sTorm PaneL -A. : Ja wSi 88 Al
OR DOOR — & NUT @ 12" O.C. ‘ x| & & WINGNUT @ 6" FOR TYPE | & If | £33 Fo| & & gllo
o . <F / % @ 12" 0.C. FGR TYPE . EXISTING CONCRETE, sl <22z g4
CONT (TYP. z m | vl ol 8%
= w HOLLOW BLOCK OR | g5z - 2 |2
TOP & BOTTOM i ! wO0D FRAMING (SEE | Wz v Eadll
I} o i w ANCHOR SCHED. BASED | Sla g o 2853
w \ i B_‘ [ 3 1/6-20 S.S. BOLT & ON TYPE OF STRUC TURE]) I g Zr A Ad=E
3 - = u|a L8, ‘ z g WINGNUT @ PANEL MIDSP AN \ ZlaE Julg@® . |v
w ¥ 1/4-20 MACHINE SCREW STUD : 91 OR @ S1" 0.C. MAX. [TYP) [ ez 3 =122s|>
Ry & WINGNUT @ 6" FOR TYPE | & II J & f | X|o = <. Ea9s
. & @12" 0.C. FOR TYPE Il | e MIN. 2" x 2" x 125" CONT — OB Fha onE Ay T lw
; | p- 6063-T6 AL. ALLOY - | o> olu2 gz
EXISTING CONCRETE, —0O6 <& OR 18 GAGE GALV. STEEL v | w = z 5 Somle
HOLLOW BLOCK OR SEE MIN. SEPARATION | al ANGLE o | TL 8.3~
w000 FRAMING (SEE FASTENER, SEE ANCHOR FROM GLASS SCHEDULE ’ x| % It UL.'J zs 5 o
ANCHQOR SCHED. BASED SCHEDULE, REFERENCE (SHEET S QF 8) i < r o - Zz|gn 2
ON TYPE QF $TRUCTURE) CONNEC TION "TYPE 4 \ | Ew R S ,_|>_,: Y8 [5)
. = m
T | It ~ ~o 2 ale
x SIDE CLOSURE REQ'D. {SEE PLAN VIEW) [ | l J -| (39)Tw0 SPRING LOCKING NI SFEEE
— | | B \ - z 2 =
EMBED, NOTES: - THIS DETAIL MAY BE USED AT TOP R CLIPS PER HOLE @ 6" 0.C. zZ218 4 g b3
/8" MAX 4b OR BOTTOM QF PANELS. @ STORM PANEL FASTENER, SEE ANCHOR Mol N o]
: NQTE: THIS DETAIL MAY BE USED
- HEADERS (2) & (3) CANNOT BE USED IN T AT TQP OR 8OTTOM OF PANELS i SCHEDULE. REFERENCE
COMBINATION WITH THIS DETAIL. ’ L CONNECTION “TYPE 3" =
EMBED. 5/8" £ o n
TTMAX 2 2588«
® ALT. BUILD-OUT MOUNT SECTION ® WALL MOUNT DETAIL o CORNER DETAIL ALT. WALL MOUNT s |£:533E
= Mn AT
= oo o<
SCALE : 3" = 1'-0" SCALE : 3" = 1'-0" SCALE : 3" = 1'-0" s =33
Le 3 W/ SPRING CLIP (si onev) S0lE$82s3
Z2o: 2885
SCALE 3" = 1'-0" =2 < pkatg
NOTE:  PANEL LENGTH SHALL BE E< EZEY E:
LIMITED TO TABLE 1 TYPE Il algeSs=&
: @ PSS
T T 1 gl T EE
SEE MIN. SEPARATION [ ] r 3 _ L E Y
FROM GLASS SCHEDULE ! . " F g 2 g5
(SHEET S OF 8) ———«—] | : | - x £ z3
= Z=
\ [ in : 3 mQ| £ 52
— 06 .. | @ O 2 E
T P §¢
—— " >
: GLASS e 0D : < O_V) £ SE
OR DOOR z E a
: w 27 x 2" x 125" ALUM, : e =) E:" 2t
" . STUD ANGLE z g3
THREE 1/4"® W0OOD LAG PR S T2 . | 2 b - | & L S £3
SCREWS W/ 2-1/4" MIN. i — 1 ® 27 x 27 x 125" g [ E 3
EMBED. @ 24" 0.C. MAX. ; ! WOO0D ROOF TRUSS |~ ALUM.STUD ANGLE < | @ CE—
| AN ! OR FRAMING MEMBER 1 ; | [ _— . V.1. KNEZGVIEH
N N SHALL BE PERPENDICULAR | ! MAX. 178" TILE | a ® 27 x3"x1/8" OR PROFESSIONAL ENGINEER
TO PANEL [ b FINISH MATERIAL H [ % 2" x 5" x 1/8" 6063-T& FL License 6: PEAI010983
! I [ < ALUM. ANGLE
| b3
— = | O NAL .
= — %\l 3 tt 2" x 5" x 1/8
i [ I I CLu _ STUCCO FINISH OR >N “ 6063-T6 ALUM. ANGLE
o Il N % i %‘ PLYWOOD SOFFIT /4" PLYWOOD < . I W/ 1/4%9 STUD @ ;
E rr:—"‘l "/\_\—! !—u ’? : 2" x 4" x 1/8" CONT o gﬂ 12roc """*/
— ; 'r : I — 176" MAX. &N ALUM. TUBE (6063-T6) TWO-3/16" ALUM. 1 I! 2002
== | RIVET
CONT. &* x .250" i g 1749 POWERS RAWL CALK-IN @ 7" 0.C. By ETs
ALUM. PLATE OVER I | . z — WITH 7/8" MIN. EMB. IN CONC. OR "~ M \F,
y Q" : 5 /u SCREW
WOOD MEMBERS ! o T %o#zgpgcgbo/cT_?le NN, é:e?_ CRE EXISTING CONCRETE " @
¢ ! ° 2 IN WOOD. WOOD SHALL BE OF SPECIFIC c{2|&|a
@— I i ) iy GRAVITY “G" OF 0.55 OR GREATER 2=lals
*ia z
; T U ~————— 1/2"® THRU BOLT @ 12" 0.C. 174"® POWERS RAWL CALK-IN “ _: z|¢ 2
| = — @ 5-3/4"0.C. W/ 7/8" e (5212
g - 1/6"® POWERS RAWL CALK-IN @ 12" 0.C. MIN. EMB. IN CONC. R
! Z — WITH 7/8" MIN. EMB. IN CONC. OR W/ 1/4-20 MACHINE SCREW MENGIEH
) SEE MIN. SEPARATION [ #16 SMS BETWEEN 4 8 HOLLOW BLOCK OR 1/4"® LAG SCREW w | 128"
(FROM GLASS SCHEDULE I TRUSSES @ 12" 0.C. r @ 24" 0.C. W/ 1-1/2" MIN. EMB. IN WOOD Al
SHEET S OF &) I @ WOO0D SHALL BE OF SPECIFIC >
(SHEET 5 i z GRAVITY "G" OF 0.55 OR GREATER o W% g
| Z ' - 85518
| S — 2]
| OG . EXISTING CONCRETE, ® 2" x 2" x 1/8” CONT. ALUM. ANGLE 6063-T6 NOTE. THIS DETAIL MAY BE USED AT BEE
X D s R N TOP OR BOTTOM OF PANEL HIE
—_—t—y < . -1 g~ o
T| ANCHOR SCHED BASED MAX. PROGDUCT REVISED 1322
ON TYPE OF STRUCTURE) {MAX. DESIGN LOAD = 72 PSF) as complying with the Florids L (g ]s]m
(MAX. DESIGN LOAD ¢+ 72 PSF) (MAX. DESIGN LOAD = 72 PSF] Boiding Code Tare
Acceprance No 02-0315.08 09/30/1998
® SOFFIT CONNECTION DETAIL "PASS THRU" DETAIL @ EDGE MOUNT DETAIL Expication Dat
SCALE : 3" = 1"-0" @ SCALE : 3" = 1'-0" SCALE : 3 = 1'-0" By
Mifimi Dade Product Cotitrol =
Division rawing na.
98-217
sheet 3 of 8

05,/09/02 14:06



J: \CADD\Cadd98\Hurst\98—-217\R3-sub\98-217-04.dwg OBlanco 05/10,/2002 09: 28: 56am

Print Information:

|t
! : f 13
J ¢ .
t‘_®@ S| EXISTING CONCRETE, I & £
| o | HOLLOW BLOCK OR f T T
| W | WO0OD FRAMING (SEE 2 12n 5] . F
ANCHOR SCHED. BASED 5/8" n . - Tt r o/ - - QLE F
2% % 2% x 125 ALUM : I | ONTYPE OF STRUCTURE) 1 MIN." 1MAX, 2" x 57 x 1/8" | r i ! ! SQZ?’ENH.NEEPEEEL
6063-T6 ANGLE ;
STUD ANGLE — | 2 y: G I L i UZ|8n Y
[ 4 o h i ! i N2 x 27 ALUM - | ma 3=
= m&®a g -
i i T e MAX [ " 1 1 STUD ANGLE “nTEY v
| “zJ w — — R . ' ® : : o w| T g iw
. [ 2 | TWO-2" x 5" x 1/8 t— 1/4-20 MACHINE SCREW U Y 4/47-20 STUG TR =
! e P [ 6063-T6 ALUM. | STUD W/ WING NUT @ T v g < N2
: i : 172 I ANGLE | 67 0.C.TOPANEL 5 Wy 29z |v
1 f X | . | ANGLE CONNECTION z INTERIOR FASTENING 218882
[ b4 MIN. - 9 5 ’ I ] ANGLE ASSEMBLY <8 g Z g =
L. ‘ 17470 POWERS RAWL CALK : ® E :¢—STUDDED STORM PANEL SCALE: 1-1/2" = 1-0~ U £ a 2 :
7/8" MIN, EMBED. & @ | z ~lo®g
11" 0.C.IN CONC. OR @ : = i L~ 1/4-20 MACHINE SCREW o O.* qa =
% 7" 0.C. INHOLLOW BLOCK | €} 2" x 2" x 1/8” | STUD W/ NUT @ 6" O.C. Vinlod . |lu
< WITH 1/4-20 MACHINE SCREW z STUDDED X ; 1/6-20 MACHINE SCREW Wia | © 7 .y
b i w | ANGLE TO ANGLE < m STUD W/ NUT @ &” O.C. wl g 2>
| - ANGLE ———— { CONNECTION x Lujpgadiu
" . — [ Ine sovens s Sl e 252582
H 176479 MACHINE BOLT I . W/ 1" MiN. EMBED. g 2
B~ ) @ 52" Qe chINE [ « . I I MINJEMBED. IN CONC. W/ IN CONC z|2VEII
5/16" ® POWERS RAWL CALK-IN | % ~ i | 1/4-20 MACHINE SCREW 3 wi &2 g ~
@ 6" 0.C. W/ 1" MIN. EMBED, ' ! Ca— ) Jolt 83 S
INTQ CONC. OR HOLLOW BLOCK 3@ — : N = INTERIOR FASTENING >Z 23 § ~
|\ W/ 5/16-18 MACHINE SCREW J ' SR IE] . ANGLE ASSEMBLY w2 A o
_ (9 2" x 5" x 1/8" CONT. JM_ ~L v = . - o SCALE: 1-1/2" = 1-0" NS|SFE|E
|312~8x_ ANGLE 6061-T6 ALUM. W/ EMBEO | e e . wo 285 &
1/4"® STUD @ 12" O.C. . . i . THA Zo1 8322l
L4 M Mol F ]
T pr-— PUNCH HOLES IN ADJACENT =
L PANELS TO RECEIVE THIS BOLT g eememee—
S PLACE PANEL OVER EACH P
= wy
NOTE: THIS DETAIL MAY BE USED AT \J Q‘?déﬁﬁ?‘.l. ?SSSLrQS?NZ'?DSETE” 2 258 g]
&<
TOP OR BOTTOM OF PANEL {MAX. DESIGN LOAD & 72 PSF) {MAX. DESIGN LOAD = 72 PSF) D> E £ 85335
(MAX, DESIGN LOAD = 72 PSF) g <Tagd
O=Z E885%
" ] B~
ANGLE TO "U" HEADER STORM PANEL 24 £ ofzsc
P )
® EDGE MOUNT DETAIL @ BUILD-OUT @ ASSEMBLY MOUNT INTERIOR FASTENING DETAIL (use witH peT AL OF 3¢ £Z¢E g2
3
S e B X
SCALE : 3" = 1'-0" SCALE : 3" = 1'-0" SCALE : 3" = 1'-0" SCALE: N.T.S. Dﬂ. s BF LT
_IE g0 =
<< 5
AE N EFE
= o s S
Mol = H
L3
o % [ fhi
I~ I TWO - 5/16"® POWERS RAWL CALK-IN @ . own [ 8%
: R : 3-1/8" 0.C. W/ 1" MIN. EMBED. IN CONC : 3 g or
— n e OR HOLLOW BLOCK W/ 3-3/4" MIN. . R g Z5
2" x 2% x 055" [ ©e - [ OL&) EOGE DIST. W/ 5/16-18 MACHINE I ©6 @ E £2
6063-T6 CONT. : . I SCREW [ " = = <
ALUM. TUBE I ' ' £ B A I~ T
: = : | I @0 | 0 |
g | z . — | . I VJ. KNFZEVICH
! & ' 2" x 27x 125" [ 4 Yl R BOLT @ | I — oG PROFESSIQAL ENGINEER
I - ! STUDDED ANGLE ! a 12" 0.C. GLE T | | FL Licensg/Na: PY 0010983
_ | » | efd. | o ANGLE CONNECTION | |
P EMBED, " 1 o — 5/8" z =
F %4 5/8 Z ! MAX. ' L 1/6"® POWERS RAWL CALK-IN @ ! z '
¥ MAX | < | [ a | [
N : | a | < L] | 11 0.C. W/ 7/8" MIN. | |
& | N | ) | § EMBED. INTO CONCRETE W/ | o |
P/ i % i - #12 SMS & 1/4-20 MACHINE SCREW | - |
L | T I @ 12" 0.C. | < |
| i Y ' 3 § e | 1A
| | 1-1/2" MIN. i | X [ 200
H <
L . e— 2" x 7%x 9'-7" MAX. Tf=0.13", - 1 = ' —
® 2" x 2" x 125" 27 x 2" x 125" y ( Tw=0.055" 6063-T6 ALUM. - d T
1/4-20 MACHINE STUDDED ANGLE STUDDED ANGLE @ LAP BEAM . ) \ " " " I
SCREW @ 6" 0.C. > o : . ® 2 x 2" x 125 1/4-20 MACHINE SCREW l2|3|u
1/4-20 MACHINE SCREW - N 2% % 3 x 174" x 0°-6" z <. STUDDED ANGLE STUD & WINGNUT @ 6" 0.C. Slajaje
"_jggDT:.PvénlNgr:luT @6 0.C. a 6063-T6 ALUM. ANGLE e T 22 M FOR TYPE | & i e § 2
. i PR L L szig|o
EXISTING CONCRETE, 1749 POWERS RAWL CALK-IN _ (TYP. TOP & BOTTOM) " W . by HEIEE
HOLLOW BLOCK OR W/ 7/8" MIN. EMBED @ 2" x 2 x 125 SIHEEE
w000 FRAMING (SEE IN CONC. OR HOLLOW o STUD ANGLE o] 151852
ANCHOR SCHED. BASED BLOCK @ 6" 0O.C. TWO-1/4-20 MACHINE SCREWS 2" x| x 178" Sl
ON TYPE OF STRUCTURE) @ s LIRHE
ALT. LEG DIRECTION 6063-T6 ANGLE > a
NEIFIE
EXISTING CONCRETE, PROBUCT REVISED vl lal>1518
[e] . . . o
uoLoLé’:Ri;?ﬁz (OSREE as complyiag with the Florida ARSI
NOTE: THIS DETAIL MAY BE USED AT ANCHOR SCHED. BASED NOTE: THIS DETAIL MAY BE USED AT NOTE: THIS DETAIL MAY BE USED AT Buidize Cade HE R
TOP OR BOTTOM OF PANEL. ON TYPE OF STRUCTURE] TOP OR BOTTOM OF PANEL. TOP OR BOTTOM DF PANEL. S At oS
Acceprance No 02-0315.08 {51218
Expiration Dat 10/03 J LA

(MAX. DESIGN LOAD = 72 PSF) {MAX. DESIGN LOAD = 72 PSF) (MAX. DESIGN LOAD £ 72 PSF)
s ] ¥
fHAX. mﬁsmm;;:: Coatrol
2" x 2" ALUM. TUBE BUILD-OUT @ STORM PANEL SUPPORT BEAM @ STORM PANEL BUILD-OUT o

@ drawing no.
SCALE : 3" = 1"-0" SCALE : 3" = 1'-0" SCALE : 3" = 1'-0"

98-217
_—sheef 4 of 8

05/09/02 13:20



J: \CADD\Cadd98\Hurst\98—217\R3-sub\98—217-05.dwg AVazquez 05/09/2002 02:19: 43pm

Print Information:

d

K

T STORM PANEL (1) & (18 SGHEDULE »| MIN. STORM PANEL SEPARATION FROM GLASS SCHEDULE
O~ J
B TYPE | TYPE i TYPE Il B MINIMUM SEPARATION MINIMUM SEPARATION ;E a § g z
m m
E — =R SITIVE FOR INSTALLATIONS FOR INSTALLATIONS —h|a* e
FOR STUD ANGLE MOUNTS, "F E PO 30 OR LESS GREATER THAN 30° e gee
1 FOR ALL MOUNTING |FOR STUD ANGLE MOUNTS OR| TRACK MOUNTS, OR DIRECT , | DESIGN MAX. PANEL ABOVE GRADE ABOVE GRADE NEFIE
CONDITIONS AT TOP | 'F' TRACK MOUNTS W/ STUDS |MOUNTS @ 12" 0.C. OR 12-1/2" O.C. LOAD (W) LENGTH (L) (INCHES) (INCHES) wolgS25
NEGATIVE H(STUDS @ 6” 0.C. OR @ 6" 0.C., DIRECT MOUNTS (PSF] (FT - IN) <a|28¢]
DESIGN 6-1/4" 0.C. FOR “F* | W/ ANCHORS @ 6" O.C. OR % BAR NO BAR | NQO BAR NO BAR & Zol3TE 2
LOAD (W) TRACK AND STUD 6-1/4" 0.C. (REQUIRED & BOLTS | W/ BOLTS | NOBOLTS NO BOLTS 8‘ YL
(PSF) ANGLE MOUNTS AT TOP AND BOTTOM) @ 40.0 5-8 1-7/8 2-1/2 2-1/2 1-3/8 Al Eu‘a z
AT BOTTQM) = - R
* ABOVE CONDITIONS | ABOVE CONDITIONS £0.0 8-5 1-7/8 2-1/2 2-1/2 1-7/8 <=2FE|2
" TOP & BOTTOM |AT TOP & SPRING 0.0 8-8 N/A 2-3/4 2-1/2 1-7/8 g3l 5z
W/ NO SPRING | LOCKING CLIP L0.0 11 - 0 N/A 3 3-3/8 3 vlwiz|zZ
LOCKING CLiP AT BOTTOM 50.0 5 -8 1-7/8 2-1/2 2-1/2 1-3/8 S 2g 2l
500 8-5 2 2-1/2 2-1/2 2 218333
L max. L max. L max. L max, - >=| & °
(FT-IN) (FT-IN) (FT-IN) (FT-IN) 50.0 - N/A 2-3/4 2-1/2 2 TR
0 -0 - 3 2 z835
400 8 - 5 10 - 8 i1 -0 8 - 8 20.0 - /A > 27378 222582
S - - - - _ o o
50.0 8 -5 10 -5 10 -5 8 -8 :gg - 1;/8 ;”; ;12 1”2 Ol 8F %8
. - -1/ -1 2-1/ o
60.0 8 -~ 5 9 - 11 9 - 11 8 - 7 2
= P— 60.0 8 -8 N/A 2-3/4 2-1/2 2-1/4 £ o3
0.0 8 - 8 -9 7 - 4 60.0 9-m N/ A 3 3-3/8 3 s 2 §E§°c,3§
—_ P - —_ B o 7T~
5.0 8§ - 0 203 8 -3 6 - 10 70.0 5-8 1-7/8 2-1/2 2-1/2 1-1/2 S ;_‘5:’;@3
- - - - ‘U‘ - —~n
80.0 7 -6 9 -3 /- 8 6 -5 70.0 8-5 2-1/4 2-1/2 2-1/2 2-1/4 W £ 85582
50.0 6 -8 5-0 6 - 10 5 - 9 700 8 -8 N/A 2-3/4 2-1/2 2-3/8 =< 525278
100.0 6 -0 8 -9 6 - 2 S -2 70.0 9 -7 N/A 3 3-3/8 3 Eg g Eggﬁé
@ O —
110.0 5 - 6 8 - 7 5 -7 4 - 8 80.0 5-8 N/A 2-1/2 2-1/2 1-1/2 3 ﬁ%zﬁém
120.0 5 -0 8 - 4 5 - 1 4 -3 80.0 8-5 N/A 2-1/2 2-1/2 2-1/2 <§ g St
130.0 4 -7 8 -2 4 -9 3 - 11 80.0 8 -8 N/A 2-3/4 2-1/2 2-5/8 :ng 5 Zs
14.0.0 4 -3 7 - 10 4 - 4 3 -8 80.0 5-3 N/A 3 3-3/8 3 Op=| 3 EE
1500 4 -0 7 - 4 4 - 1 3 - 5 90.0 L -0 N/A 2-1/2 2-1/2 1-1/4 own : 3
1600 3 -9 6 - 11 3 - 10 3 - p 90.0 8-5 N/A 2-5/8 2-5/8 2-5/8 O s £5
700 S Pa— P — 90.0 8-8 N/A 2-3/4 2-3/4 2-3/4 g 35
: , 9-0 - 3
180.0 3-4 6 - 1 3 -5 2 - 10 2‘;3 - NZA 2 3-3/8
100. 4 - A -~ - -
190 0 3 - 2 5 - g 3 -3 2 - g N/ 2-1/2 2-1/2 1-1/4
100.0 8 -5 N/A 2-3/4 2-3/4 2-3/4
200.0 3-0 5 -6 3 -1 2 -7 R
P 100.0 - N/A 2-7/8 2-7/8 2-7/8
210.0 2 - 10 5 - 3 2 - 11 1000 59 N/ A 3 3378 =
0 - - - 2 - 4
220 2 3 S Q 2 ° > 3 110.0 L -0 N/A 2-1/2 2-1/2 1-3/8
2300 4 -9 c -8 110.0 6-0 N/A 2-1/2 2-1/2 1-5/8
110.0 8 -5 N/A 2-7/8 2-7/8 2-7/8
* NOTES: 1100 §-7 N/A 3 3 3 e
1. EE;E?HTABLE 1 WITH NEGATIVE DESIGN LOAD TO DETERMINE MAXIMUM PANEL 200 = N A o1 Y YA §§§
' 120.0 5-0 N/A 2-1/2 2-1/2 1-1/2 zg2|2
W T3
2. REFERENCE APPROPRIATE COLUMN IN STORM PANEL SCHEDULE BASED ON 1700 5L N A 3 3 3 AR
MOUNTING CONDITIONS IN FIELD. SEEE
CIRHER
3. SEE NOTE No. 17 ON PAGE 10OF 8. NOTES: 2 2
—_— L} [ X
1. ENTER TABLE 2 WITH POSITIVE DESIGN LOAD TQ DETERMINE MINIMUM PANEL SIEEHE
SEPARATION FROM GLASS. FHNE
PRODUCT REVISED slal3le
23 corplying witk the Florida 2. FOR DESIGN LOADS BETWEEN TABULATED VALUES USE NEXT HIGHER LOAD 3l2/4
Buiding Code OR LINEAR INTERPOLATION MAY BE USED TO DETERMINE ALLOWABLE PANEL L (&~
Acesptance Mo 02-031S.08 LENGTH. date
PR 09/30/1998
Expirstion Dagg 03 //0/03
: / 3. " N/A " DESIGNATES NOT APPLICABLE - MUST MEET "NO BAR" REQUIREMENTS.
o AS NOTE
pede Frodugs Cooird
DWOII drawing no.
98-217
Lshee’r 5 of 8 ]

05/09/02 14:19



Print Information: J:\CADD\CoddQB\Hurst\98—217\R3—sub\98—217—06.dwg AVazquez 05/09/2002 02:54:54pm

ANCHOR SCHEDULE

FASTENER MAXIMUM SPACING (INCHES) REQUIRED FOR VARIOUS DESIGN LOADS AND SPANS

ANCHOR NOTES:

3/4" EDGE DISTANCE

w LOAD
o) SPANS UP TO SPANS UP TO SPANS UP TO
22 (W) 50" 8'-5" 177-0"
55% ANCHOR TYPE PSE (SEE NOTE 1) (SEE NOTE 1) (SEE NOTE 1)
X MeEe | connecTion CONNECTION CONNECTION
b NOTE 1) TYPE TYPE TYPE
T2 3 (sls|rl2|3lals)ail2l3]els
48.0 h2sph2.si12s112.5h12.sh2s| 11 [12.5)125[ 9 h2s| 7 h25hzs| 6
J— NS [ 620 hzshizs)izshz s = fzs 7 hzsha o 5 12.5] 5 [12.5712.5] 5
174”2 woOD LAG SCREw | 72.0 |12.5h2shz2sli25| 10 h2 s 1251125] 6 f12s| &« | 11| 8 | &
W/ 1-3/4" THREAD
PENETRATION 92.0 2| 9 h2shzs| 7 fi2s| w {12 9] 4 h2s] 3] 6 | 5 | 3
{SHEAR PARALLEL
TO GRAIN) 230.0 | 1 S| 43| 54| 3| s | 4|3
48.0 lh2.sj12.5h12.5112.5| 12 h2.s| 11 [12.80125] 7 h2.s| 7 h2shzs| s
. Ef::::ﬁﬂﬂmﬂﬂmﬁﬁmﬂﬁt> 62.0 p12.s)12s112.5012.5] 9 h2s| 7 |12.512s| 5 h2s| s h2shzsl &
8 1/4"® WOOD LAG SCREW 72.0 I12.5)12.5h12.5)12.5] 8 h2.s 1251125} 4« 125 4 [ 11] 8 3
g W/ 1-3/4" THREAD
PENETRATION 92.0 |2s{ 9 h12sh2s| 6 h2s 129 3h2s[3 |65
(SHEARPERPENDKULAR
TO GRAIN) 230.0 | 1 5 | 4 11 5 | 4 1 s | &
T — 48.0 h2.siiz.sl12.sp12.sl12.sh2.s| 12 [12.5012.5] 12 [i2.5] 8 125125 9
~ 62.0 h2.sh2shzsh2.sh2.shizs| 8 12.sh2s| 9 [izs| s 125025 7
1/4"® ELCO MALE/ 72.0 h2.5)12.5012.5/12.5/12.5012.5| & 12.512.5] 8 12,5 &« [12.5] 9 6
FEMALE "PANELMATE" W/
1-7/8 MIN. EMBEDMENT 92.0 12.5] 10 ({12.5]12.5] 10 h2.s| & 125110 | 6 h2s| 3 7 6 4
& 1/4-20 MACHINE
SCREW WITH NUT 2300 125 3|6 (s |4fi2sl 3 (e t hzs| 3|6 |s |

1.

SPANS & LOADS SHOWN HERE ARE FOR DETERMINING
ANCHOR SPACING ONLY. ALLOWABLE SHUTTER
SPANS FOR SPECIFIC LOADS MUST BE LIMITED TO
THOSE SHOWN IN TABLE 1, SHEET 5

ENTER TABLE BASED ON THE EXISTING STRUCTURE
MATERIAL, ANCHOR TYPE AND EDGE DISTANCE.
SELECT DESIGN LOAD GREATER THAN OR EQUAL TO
NEGATIVE DESIGN LOAD ON SHUTTER AND SELECT
SPAN GREATER THAN OR EQUAL TO SHUTTER SPAN.

EXISTING STRUCTURE MAY BE CONCRETE, HOLLOW
BLOCK OR WOOD FRAMING, REFERENCE ANCHOR
SCHEDULE FOR PROPER ANCHOR TYPE BASED ON
TYPE OF EXISTING STRUCTURE AND APPROPRIATE
CONNECTION TYPE. SEE CONNECTION DETAILS FOR
IDENTIFICATION OF CONNECTION TYPE.

ANCHORS SHALL BE INSTALLED IN ACCORDANCE
WITH MANUFACTURERS' RECOMMENDA TIONS.

MINIMUM EMBEDMENT AND EDGE DISTANCE EXCLUDES
WALL FINISH OR STUCCO.

WHERE EXISTING STRUCTURE IS W0OQD FRAMING,
WOQaD FRAMING CONDITIONS VARY. FIELD VERIFY
THAT FASTENERS ARE INTO ADEQUATE WOOD
FRAMING MEMBERS, NOT PLYWQOD.

WHERE LAG SCREWS FASTEN TO NARROW FACE OF
STUD FRAMING, FASTENER SHALL BE LOCATED IN
CENTER OF NOMINAL 2"x4" (MIN.) WOOD STUD. 3/4"
EDGE DISTANCE IS ACCEPTABLE FOR WOOD FRAMING.
WOOD STUD SHALL BE “SOUTHERN PINE” G=0.55 OR
GREATER DENSITY. LAG SCREWS SHALL HAVE
PHILLIPS PAN HEAD OR HEX HEAD.

MACHINE SCREWS SHALL HAVE MINIMUM QOF 1/2"
ENGAGEMENT OF THREADS IN BASE ANCHOR AND
MAY HAVE EITHER A PAN HEAD, TRUSS HEAD, OR
WAFER HEAD (SIDEWALK BOLT), U.O.N.

DESIGNATES ANCHOR CONDITIONS WHICH ARE
NOT ACCEPTABLE USES.

DESIGNATES ANCHORS WHUCH ARE REMOV ABLE
BY REMOVING WASHERED WINGNUT, NUT, OR
MACHINE SCREW.

PRODUCT REVISED
as eamplying wip

Buiding 0o

Acceptanes No 02-

Expiratioy

O~
Vz|88s
Z-ma g
= m o g
—wn —I*I'
w - < g
SEEE
wv
WaAr-F-3
YiEE 2
|l 2890 ®
al27
L5/378
x| = =i
Valsgz
S8
O, T2
- o
wv o X .
20
w3 O
59
2% 5
§33
z .
a i
£8¢
—m.
mﬁg
o~
Wi
gﬁ
554
Z8 3
Q W
SE=
(=
£ vy
Q@
-‘éz'\ggw
S 5¥I3SR
E £>MOI,\'O
£ <02l
:-J’Eﬁ-g\of-\m
WiE2ERES
Z g "8z a
-— D.Bme\_-jg
£ZzE8538Y
= c
gwns X
Bg 35855
: "’cos_.‘f—o'“"
- =
K
qe| 5 T
: L E z§
- O
W DrE
R EEFE
own| s 8z
' £l Qg
£ ) P
(o] g =
A EH
o (=4
= —
R

V.J. KNEZ ‘j
PROFESSIOI ENGINEER
FL Ucense Ng: PE #010983

S

_ )
_|
— |

description
GENERAL REVISIONS
GENERAL NOTES

revisions

date |by
1 09/30/98VIK| PREV. DRAWING # 95-330

2 01704 /798[VIK;
3 05/09/02/0LB

_

0973071998
drawn by

a
o
-
L)

scale
AS NOTED
design by
VIK

n

T

»

n

x

a
<
Cglix
<N

drawing no

98-217

sheet 6 of 8

05/09/02

14: 21



J:\CADD\CaddQB\Hurst\98—217\R3—5ub\98—217—07.dwg AVazquez 05/09/2002 02:54:09pm

Print Information:

Ug §3§
ANCHOR SCHEDULE Zo| R a8
“wio T
FASTENER MAXIMUM SPACING (INCHES) REQUIRED FOR VARIOUS DESIGN LOADS AND SPANS Rl B § g
A §<E
2" EDGE DISTANCE 3" EDGE DISTANCE .~ ggg
<22 = g
w .
ol LOAD SPANS UP TO SPANS UP TO SPANS UP TO SPANS UP TO SPANS UP TO SPANS UP TO o= ém o
z2 (W) 5'-0" 8'-5" 11'-0" 50" 8'-5" 11°-0" S8 8%
(’l_')g ANCHOR TYPE PSF (SEE NOTE 1) (SEE NOTE 1) (SEE NOTE 1) (SEE NOTE 1) (SEE NOTE 1) (SEE NOTE 1) m;, : Q u
— m
X Pzé?é' CONNECTION CONNECTION CONNECTION CONNECTION CONNECTION CONNECTION 25 E?%
i TYPE TYPE TYPE TYPE TYPE TYPE L2589
NOTE 1) &2 355
Q| s
V23 fe)s)rr2y3fegstri2i3jelsfilz2{3|als|{rl2{3|als]1]|2]3]s]s =258
w a w
U g2
480 p2spzsp2spzsp2sh2sl 7 1251250 9 (12,5 & 1250125 7 h2.sh2.sh2shz2shzshizs| 7 1250129 11 hzs S [12.512.5/ 8 ;g E§§
2 g4
S:mmm 62.0 [2.5/12 12.512.5/12 12,5 & 12.512.50 7 | 11| 3 | 11| 8 | 5 hz2siz.shz2.5h2sh2sh2s] s [128l25 8 h2s 3 h12s] 9 | 6 whi2 /3
No! S ¥ W
72.0 [12.5] 8 [12.5)12.5[ 10 12,51 3 [12s{12 ] 6 { 10 S | &« 2] 9 h2spzs| 12 fizs| « 1251125 7 | 17 8| 6]s we 2882
1/6"® ITW TAPCON W/ Z5 84 %
1-1/4" MIN. EMBEDMENT | 92.0 |12.5| 5 1250125 8 | 10 715|418 L4 3| 3 h2sf 6 12.5112.5( 10 | 11 8{6|s|s L | 34 4 “o|SF
S
(MIN. 3,100 P.S.l. CONCRETE)| 230.0 7 3 3 7 3 3 7 3 3 8 3 3 4 8 3 3 L 8 3 3 L j = -
< U o
% O 48.0 fr2.sp2.spt2.shiz.s 11 fiz.sf s 12.512.50 7 {11 3 |12 |12 | 5 h2shizsheshashizshzsl s 12shz25 8 1213 [12]12] & 2 §S§gfg
£ 22
* &@W 62.0 [125] 9 125h2s 9 121 3 |12112] 5| 9 9 & hzsj 1o hizshzsl1ol12| 3 (12012 e | o g .6 | 4 E.l 53I0edd
1/4"® ELCO MALE/ o= 2258
FEMALE "PANELMATE" W/| 72.0 125 7 n2si12s| 7 | 10 & 10 L 8 5 L 3 h2s) 7 p2.sp12s 9 |10 3 |10 =) 8 5 L L4 Zl-l-l N
1-1/4 MIN. EMBEDMENT _Z a Bu-“@/\-’%
& 1/4-20 MACHINE 92.0 [|125] 4 |1250125/ 6 | 8 61|36 3 125 4 |12.5hh2.s] 7| 8 64| u]es 3 3 §< EZE58C
SCREW WITH NUT ol s oS S &
(MIN. 3,000 P.S.. CONCRETE)| 230.0 | S S S 6 6 6 3 z oEEf”—gf-'-
=
48.0 N2.5112.5012.5/12.5012.5)12.5 11 [12.5112.5| 10 hzs| 7 l12sli25l 8 12.512.5|12.5[12.5[12.5[12.512.5[12.5[12.5{12.5}12.5] 9 l12.5[12 512 5 SEE PAGE 6 FOR <E 2 .
* ANCHOR NOTES els gk
62.0 P125n2.5/12.512.512.5/12.5| 7 [12.5/12.5| 8 J12.5| 5 }125012.5| & hz.s|12.5hi2.s|i2.5l12.5h2s] 9 [12.8h25h2 sha s 6 12.5012.5| 10 0 E £3
= g
1/4"® POWERS RAWL 72.0 [12.5[12.5/12.5/12.5| 11 h2.5 12.512.51 7 P25 « |11 9 | 5 h2spz2.sp2.sp2.sp12.sh2.s| 7 (12.5012.5] 11 }125l s |28l 11] 8 Of= g;
CALK-IN W/ 7/8“ EMBED. own s oz
w & 1/4-20 STAINLESS 92.0 25| 9 h2s(12s/ 9 h2s|l 4 |12 ] 9 S 2.5 3 6 ) & N2.5( 11 1125125112 5112.5| 5 [12.5] 11 8 12.5| 3 8 6 6 . 2 g"’
| STEEL MACHINE SCREW - O |& 2E
o (MIN. 3,000 P.S.I. CONCRETE)| 230.0 |12 5 L 3§12 5 L 3112 =) L 3 2.5 3 7 ) 6 N2.5 3 7 =) 6 12.5] 3 7 =) 5] é gé
)
% 48.0 Nh2.5]12.5012.512.512.5h2.5| 5 |12.5]12.5] 7 121 3 [12 12| 6 p2.5n2.s(12.5/12.5]12sh2s! 6 |12.5/125| 9 12.5} & [12.512.5| 7
o ﬂ:ﬁj 62.0 h2.s| 10 h2sphzs0]12] 3 (121269 9 {6 | frzs| 11 h2sh2s[ 12 h2s| & [125h25] 7 |10 10 5 ProrEss e e
L :
72.0 |2s| 7 [12.5)12s] 8 | 10 10 s|s S |a|shes| s hzshzsi1o]12] 3121169 6|4l Pl Ucerpe Nos & 0010983
1/6"® POWERS RAWL -
ZAMAC NAIL~IN W/ 1-1/8" 92.0 25| 4 25125 6 8 6 L L 6 3 3 |12.5) S N2.5012.5| 8 9 6 5 5 7 3 3
MIN. EMBEDMENT -~
(MIN. 3,000 P.S.I. CONCRETE)] 230.0 | S S 5 6 3 316 3 316 3 3
“8.0 P2sp2sp2.sn2.spizsfiz.s| 7 125125 8 12,5 4 [125)12.5) 6 [i2.512.sh2sli2.s[12.5h2s] 9 12502 5] 12 12.5] 5 [12.512.5] 9 Ay
62.0 P12.5012.512.5/12.5/ 10 12.5] 4 112.512.5| 6 [12| 3 |12 | 8 | &« h2sji2sh2shi2shizshzsl 6 |125h25] o 12.5| &« 125/ 10| 7
1/4"® ITW RED HEAD 72,0 N2.s| 9 h2.sfi2.s| 9 hzs| 3 Ji2sl 12| s |10 75 | & h2s|1nzshaspzshas| o 12525 8 hzs| 3 |9 | 7| e Hﬁ‘ 11
DYNABOLT SLEEVE REIM
ANCHOR W/1-1/8" 92.0 ph2s| s [12.5/12.5) 7 | 11 8|6 |s]|s & | 3|3 P25 7 p2sh2s 11 hzs 3110 716 |10 5|4l s HWHE
MIN. EMBED. =lal>|g
(MIN. 2,100 P.S.I. CONCRETE)| 230.0 7 3 3 7 3 3 7 3 3 9 L 3 L 9 L 3 419 L 3 L4 “" §§5§
LIRMEIEA
48.0 J12.5112.5)12.512.5112.5012.5| 10 {12.5/12.5] 10 }12 5 12.5112.5| 7 112.512.5[12.512.5/12.5112.5012.5[12.512.5112 5h2.5| 8 12 50125l 12 9| |25]%|2
>lw
62.0 p25p2.512.5125112.512.51 7 [12.5/12.5| 7 h2.s| 4 (12512 | 6 [12.5012.5l12.5}12.5h25h2s] 8 [12.5k25] 12 h2 s 5 [12.512.5 9 E &
174" POWERS RAWL DROP| 72.0 [12.5(12.5}12.5M125| 11 h2 5 12.512.5] 6 2.5/ 3 | 11| 8 | S [12.512.512.512.5/12.5h2.5| 7 |12.5}12.5 10 f12.5] « h25s| 10| 8 NIENEHE
-IN & 1/4-20 SIDEWALK NEHE
BOLT (3/4"® HEAD) W/ 92.0 N25 8 (125125 8 h2s| 4« [ 11| 8| 5 |12 6 & 2.5) 10 12.5p2.sp2.sh2s| s h12sf 11 8 hes 317 1 6 | 6 lsl3le
1-1/74" MIN. EMBEDMENT I
(MIN. 2,000 P.S.I. CONCRETE)| 230.0 11 S L 31 N1 5 L 31N 5 L 3 n2.5) 3 6 =) S 25| 3 6 =) 5 25| 3 6 =) 5 of::
[’Rn’)w:;nm . date
OBUCT RLYVISEDR 09/30/1998
as Canyy 2 veith the Flﬁﬁda scale drawn by
Buidizg Code AS NOTEO MC
Acetinceso02-03/5 00
Expiration Dy 03 /70785 d‘“" b
LL7 | dasty
Division tro} sheet 7 of 8
05/09/02 1424



217\R3—sub\98—217—08.dwg AVazquez 05/09/2002 02:53: 34pm

J: \CADD\CoddQB\Hurst\QB—

Print Information:

o~
a8
ANCHOR SCHEDULE m g
= T
FASTENER MAXIMUM SPACING (INCHES) REQUIRED FOR VARIOUS DESIGN LOADS AND SPANS o § H
282
2" EDGE DISTANCE 3" EDGE DISTANCE 8 g g
3 O
w I8
N4 LOAD SPANS UP TO SPANS UP TQ SPANS UP TO SPANS UP TO SPANS UP TO SPANS UP TO oo
z2 (W) 5-0" 8'-5" 11'-0" 5.0 g'-5" 110" a3
; O ANCHOR TYPE PSF (SEE NOTE 1) (SEE NOTE 1) (SEE NOTE 1) (SEENOTE 1) (SEE NOTE 1) (SEE NOQTE 1) o é u
—-_ @ m *
a_'<cr N(ISAEE CONNECTION CONNECTION CONNECTION CONNECTION CONNECTION CONNECTION :gg
i TYPE TYPE TYPE TYPE TYPE TYPE E&Y
NOTE 1) 2x3
I-I-lu_>
1 2 3 4 ) 1 2 3 4 S 1 2 3 4 ) 1 2 3 4 ) 1 2 3 4 ) 1 2 3 4 S ,"3?2 B E
g2
48.0 1125n2.s12512.5/ 9 (10| 3 [10]10] 5 | 8 8 18| & pashaspzasiizsi 11124 {12]12]6 | o 9|9 s %:‘3;
I.I.IN
Sjﬂmmmm\m% 62.0 [12.5/ 6 [12.51125] 7 | g 8|8 lasles 6| 4|3 Nh2s 7 12sh12s 8] 9 91957 4 | 3 zZR=
S @k
720 1204 l12)l12] 6] 7 76| 3]s 3 125 S 1251125 7 | 8 87146 4 3 224
[ ] 8d %
176" ITW TAPCON W/ | 92.0 913|9|l9|4s]s 4 | 3 4 01310105 ]6 41 3]13]ua =7
1-1/4" MIN. EMBEDMENT
2300 | 3 3 3 4 4 4 o
oD
* m 48.0 fi2spz2.shz2.snz.sl 11 h2s| s fi2.slizs] 7 [12 3 112112 | s h2spzspnzsiizsfizshas| s h2shzs] 8 |12 31121121 6 E §§§g§
] NP~
* @h\mm» 620 125/ 9 j12sh2sf 9 12| 3 [12]12] 5 [ 9 S | 6| &h2sl10hizsi2si10]12] 3 [12]12] 6 | 9 9 4 S ﬁg@ﬁi
S F .53
17479 ELCO MALE/ 72.0 h2s| 7 [12shzs] 7 |10 10 4| s S| 43 f2s] 7 h2s)i2s| 9 {10] 3 | 10 s |s 5|44 2Wi s =582
FEMALE "PANELMATE" W/ _Z 3.;_,_:@/;3
1-1/4 MIN. EMBEDMENT 82.0 p2s| « (1250128 6 | s 64| 3]s 3 12.5( &« 1251125 7 | 8 6l 4| ule 3 3 §< ZEu 8=
& 1/4-20 MACHINE , N EREEEE:
SCREW WITH NUT 2300 | 5 5 5 6 6 6 3 £ EZ=
=
“8.0 125n25012.5112.5 10 h2.s{ « [12.5h25] 6 |10 3 110110 &4 p2.shz2spzshizsiizshas| 6 [12sh2s 9 has 3 1251128 6 SEE PAGE 6 FOR <E .
¥ * ANCHOR NOTES r ¢5
g 62.0 [12.5/ 8 125125 7 |10 3 |10]10] & | 8 5 | 3 2.sf 10 12.sp12.50 11 Jizs| 3 jiz.sli2sl 7 [0 0715 MmO 58
8 72.0 125 6 1250125 6 [ o CI - A 413 ]3[p2s| 7 h2spzsi10f113|1]10]6]|s 6| 4| Of= §5
W 1/4"® POWERS RAWL own 8z
[ CALK-IN W/ 7/8" EMBED. 92.0 12131121121 5 7 =) 3 3 =) 125 & [12.5/12.5]| 8 9 6 4 | 4 6 3 3 O or
w & 1/4-20 STAINLESS z5
g STEEL MACHINE SCREwW | 2300 | 5 5 5 6 3]s 31|es 3 g;
g 48.0 fiz.sh2spizsfizsl 9 (10 3 [10]10] 5 | 7 77 &« p2shespzspzsi 1|4 11]11] 6] 8 8 5
O
2 ﬂ:ﬂE 62.0 |12s| 6 12sh2s] 7 | 8 s8ls|e|e 6 | &« | 3 h2s| 7 h2sj2s| 8| 9 919|s]|es L | 4
© 720 | M {4a 11| 11]e6]|e 6le| 3]s 3 12.5] 5 12.sh2s) 7] 7 717 14]s 4 3
= | >
Q 1/4"® POWERS RAWL 92.0 9 9 9 ) ) 3 4 10} 310110 6 6 4 3 3 4
I ZAMAC NAIL-IN W/ 1-1/8"
MIN. EMBEDMENT 230.0 3 3 3 4 4 4L
48.0 125/ 121250125 7|8 3|88 4le 6 | 63 ha2spizspzsitzs 11113 [11]11] 6|8 8|8 ]s
620 1 |is|11|11lele 6| 6 5 s | 3 12.5( 6 12.512.5| 8 | 8 818 |s]e 61 4
720 | 913|919 ]s]s sls|{3]|ua 3 120 4 (1212 747 6| 4|s 3 3 al.,
176" ITW RED HEAD <|#|E|a
DYNABOLT SLEEVE 92.0 7 Tl 70 4]s 3 3 8 19)15]s L13)13]¢ S|ejale
ANCHOR W/1-1/8“ ER— :g 2iz
MIN. EMBED, 2300 | 3 3 3 A A 4 ju N
=EHEE
« ~8.0 [12.512.5112.5112.5112.5h12.5| 10 [12.5112.512 5h2 5 6 [12.5012.5/ 11 12.5]12.5[12.5(12.5[12.5/12.5| 10 [12.5/12.5h2.5h2 5| 6 12.5012.5] 11 2 2552
“ ]
7" SCREW ROD 62.0 N25[12.5112.5/12 5112.5h12.5{ 7 h2.shz2s 11 2.5 4 12.5] 12 8 P2.5112.5112.5[12.5112.5h25| 7 12.5112.5] 11 p2.s| « h2.s|12 8 S fu
J‘\i Y [ax
72.0 h2.sp2.shz2spzspizshizs s 12525 9 h2s 3 10| 817 h2sp2spzspzsiizshas| s h2shzs| g has 3110|817 R RHE
1/4-20 ITW EPCON «|2[]3
EPOXY ANCHOR W/ 920 fr2.5 8 h2shzspzsh2s| 3 |18 | 7 |12 6 5 [125] 8 251250125025 3 {118 | 7 |12 6 s HEEA
S.S. MACHINE SCREW W/ =385
2" MIN, EMBED. 2300 | 11 Sia|s]n S|4l s]|n S|4a]s|n S|4 | s |n S|4l s5 |1 S|4 |s e
PRODUCT REVISED £
;3 complying with the Florida
uiding Code = rawn
Acceptanee No 02-03/5. 08
Eapi £ esi chec
By drawing no.
Mfami Dade Product Cogefol 98-217
Division
sheet 8 of 8

05/08/02 14.27



